

Article

Some New Generalized Inequalities of Hardy Type Involving Several Functions on Time Scale Nabla Calculus

A. I. Saied ¹, Ghada AlNemer ^{2,*} , Mohammed Zakarya ^{3,4} , Clemente Cesarano ⁵ and Haytham M. Rezk ⁶

¹ Department of Mathematics, Faculty of Science, Benha University, Benha 13511, Egypt

² Department of Mathematical Science, College of Science, Princess Nourah bint Abdulrahman University, P.O. Box 84428, Riyadh 11671, Saudi Arabia

³ Department of Mathematics, College of Science, King Khalid University, P.O. Box 9004, Abha 61413, Saudi Arabia

⁴ Department of Mathematics, Faculty of Science, Al-Azhar University, Assiut 71524, Egypt

⁵ Section of Mathematics, Università Telematica Internazionale Uninettuno, 00186 Rome, Italy

⁶ Department of Mathematics, Faculty of Science, Al-Azhar University, Nasr City 11884, Egypt

* Correspondence: gnnemer@pnu.edu.sa

Abstract: In this article, we establish several new generalized Hardy-type inequalities involving several functions on time-scale nabla calculus. Furthermore, we derive some new multidimensional Hardy-type inequalities on time scales nabla calculus. The main results are proved by applying Minkowski's inequality, Jensen's inequality and Arithmetic Mean–Geometric Mean inequality. As a special case of our results, when $\mathbb{T} = \mathbb{R}$, we obtain refinements of some well-known continuous inequalities and when $\mathbb{T} = \mathbb{N}$, the results which are essentially new.

Keywords: Hardy-type inequality; time scales nabla calculus; weighted functions; inequalities; arithmetic mean–geometric mean inequality.

MSC: 26D10; 26D15; 34N05; 42B25; 42C10; 47B38



Citation: Saied, A.I.; AlNemer, G.; Zakarya, M.; Cesarano, C.; Rezk, H.M. Some New Generalized Inequalities of Hardy Type Involving Several Functions on Time Scale Nabla Calculus. *Axioms* **2022**, *11*, 662. <https://doi.org/10.3390/axioms11120662>

Academic Editor: Chris Goodrich

Received: 17 September 2022

Accepted: 15 November 2022

Published: 22 November 2022

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<https://creativecommons.org/licenses/by/4.0/>).

1. Introduction

In [1], Hardy proved that

$$\sum_{l=1}^{\infty} \left(\frac{1}{l} \sum_{i=1}^l a(i) \right)^q \leq \left(\frac{q}{q-1} \right)^q \sum_{l=1}^{\infty} a^q(l), \quad q > 1, \quad (1)$$

where $a(l) \geq 0$ for $l \geq 1$ and $\sum_{l=1}^{\infty} a^q(l) < \infty$.

In [2], Hardy proved the continuous case of (1) in the following form

$$\int_0^{\infty} \left(\frac{1}{\theta} \int_0^{\theta} f(\tau) d\tau \right)^q d\theta \leq \left(\frac{q}{q-1} \right)^q \int_0^{\infty} f^q(\theta) d\theta, \quad q > 1, \quad (2)$$

where $f \geq 0$ and integrable over any finite interval $(0, \theta)$, $\theta \in (0, \infty)$, $f \in L^q(0, \infty)$ and the constant $(q/(q-1))^q$ in (1) and (2) is sharp.

In [3], Kaijser et al. established that if Φ is a convex function on $\mathbb{R}^+$, then

$$\int_0^{\infty} \Phi \left(\frac{1}{\lambda} \int_0^{\lambda} \omega(\eta) d\eta \right) \frac{d\lambda}{\lambda} \leq \int_0^{\infty} \Phi(\omega(\lambda)) \frac{d\lambda}{\lambda}, \quad (3)$$

where $\omega : \mathbb{R}^+ \rightarrow \mathbb{R}^+$ is a locally integrable positive function. In [4], Čižmešija et al. generalized (3) in the following form

$$\int_0^r \kappa(\lambda) \Phi \left(\frac{1}{\lambda} \int_0^{\lambda} \omega(\eta) d\eta \right) \frac{d\lambda}{\lambda} \leq \int_0^r \omega(\lambda) \Phi(\omega(\lambda)) \frac{d\lambda}{\lambda},$$

where $\varkappa : (0, r) \rightarrow \mathbb{R}$, $0 < r \leq \infty$, is a non-negative function, such that $\lambda \rightarrow \varkappa(\lambda)/\lambda^2$ is locally integrable, Φ is a convex function, $\omega : (0, r) \rightarrow \mathbb{R} \forall \lambda \in (0, r)$ and

$$\omega(\eta) = \eta \int_{\eta}^r \frac{\varkappa(\lambda)}{\lambda^2} d\lambda, \quad \text{for } \eta \in (0, r).$$

In [5], Kaijser et al. explicated that if $\varkappa : (0, r) \rightarrow \mathbb{R}$, $\varrho : (0, r) \times (0, r) \rightarrow \mathbb{R}$, $0 < r \leq \infty$ are positive functions, such that $0 < \Lambda(\eta) = \int_0^{\eta} \varrho(\eta, \theta) d\theta < \infty$, $\eta \in (0, r)$, Φ is a convex function on $I \subseteq \mathbb{R}$, and

$$\omega(\lambda) = \lambda \int_{\lambda}^r \varkappa(\eta) \frac{\varrho(\eta, \lambda)}{\Lambda(\eta)} \frac{d\eta}{\eta} < \infty, \quad \lambda \in (0, r),$$

then

$$\int_0^r \varkappa(\lambda) \Phi(A_{\varrho} \omega(\lambda)) \frac{d\lambda}{\lambda} \leq \int_0^r \omega(\lambda) \Phi(\omega(\lambda)) \frac{d\lambda}{\lambda}, \quad (4)$$

where $\omega : (0, r) \rightarrow \mathbb{R}$ is a function with values in I , and

$$A_{\varrho} \omega(\lambda) = \frac{1}{\Lambda(\lambda)} \int_0^{\lambda} \varrho(\lambda, \theta) \omega(\theta) d\theta, \quad \lambda \in (0, r).$$

Additionally, in [5] it is established that if $1 < p \leq q < \infty$, $s \in (1, p)$ and $0 < r < \infty$, $\varrho : \mathbb{R}^+ \times \mathbb{R}^+ \rightarrow \mathbb{R}^+$ is a non-negative kernel, $\varkappa(\lambda) \geq 0$ and $\omega(\lambda) \geq 0$ are weighted functions, and

$$\left(\int_0^r [\Phi(A_{\varrho} \omega(\lambda))]^q \varkappa(\lambda) \frac{d\lambda}{\lambda} \right)^{\frac{1}{q}} \leq C \left[\int_0^r \Phi^p(\omega(\lambda)) \omega(\lambda) \frac{d\lambda}{\lambda} \right]^{\frac{1}{p}}, \quad (5)$$

holds for all $\omega(\lambda) \geq 0$, $\lambda \in [0, r]$ and $C > 0$, if

$$A(s) = \sup_{0 < \theta < r} [\Omega(\theta)]^{\frac{s-1}{p}} \left(\int_{\theta}^r \left(\frac{\varrho(\lambda, \theta)}{\Lambda(\lambda)} \right)^q [\Omega(\lambda)]^{\frac{q(p-s)}{p}} \varkappa(\lambda) \frac{d\lambda}{\lambda} \right)^{\frac{1}{q}} < \infty,$$

where

$$\Omega(\theta) = \int_0^{\theta} [\omega(\eta)]^{\frac{-1}{p-1}} \eta^{\frac{1}{p-1}} d\eta.$$

In the last few decades, researchers discovered the time-scale calculus which unifies the continuous and discrete calculus. A time scale $\mathbb{T}$ is an arbitrary, non-empty closed subset of the real numbers $\mathbb{R}$. Many authors established some new dynamic inequalities on $\mathbb{T}$; see the books [6,7] and the papers [8–12].

In [13], Özkan et al. demonstrated that if $0 \leq r < y \leq \infty$, $u \in C_{rd}([r, y], \mathbb{R})$ is a non-negative function, such that $\int_t^y \frac{u(\lambda)}{(\lambda-r)(\sigma(\lambda)-r)} \Delta\lambda$ exists as a finite number, Φ is continuous and convex, $f \in C_{rd}([r, y], \mathbb{R})$ and

$$v(t) = (t-r) \int_t^y \frac{u(\lambda)}{(\lambda-r)(\sigma(\lambda)-r)} \Delta\lambda, \quad t \in [r, y),$$

then

$$\int_r^y u(\lambda) \Phi \left(\frac{1}{\sigma(\lambda)-r} \int_r^{\sigma(\lambda)} f(t) \Delta t \right) \frac{\Delta\lambda}{\lambda-r} \leq \int_r^y v(\lambda) \Phi(f(\lambda)) \frac{\Delta\lambda}{\lambda-r}. \quad (6)$$

They also proved that if $u \in C_{rd}([y, \infty), \mathbb{R})$ is a non-negative function, and

$$v(t) = \frac{1}{t} \int_b^t u(\lambda) \Delta\lambda, \quad t \in [y, \infty),$$

then

$$\int_r^y u(\lambda) \Phi \left(\frac{1}{\sigma(\lambda) - r} \int_r^{\sigma(\lambda)} f(t) \Delta t \right) \frac{\Delta \lambda}{\lambda - r} \leq \int_r^y v(\lambda) \Phi(f(\lambda)) \frac{\Delta \lambda}{\lambda - r},$$

holds for all $f \in C_{rd}([y, \infty), \mathbb{R})$.

In [14], the authors proved the time-scale version of (4) as follows. Let $k(\lambda, \theta) \in C_{rd}([r, y] \times [r, y], \mathbb{R})$, $u \in C_{rd}([r, y], \mathbb{R})$ be non-negative functions, $f \in C_{rd}([r, y], \mathbb{R})$, Φ is a continuous and convex function, and

$$v(t) = (t - r) \int_t^y \frac{k(\lambda, t)}{K(\sigma(\lambda), \lambda)} u(\lambda) \frac{\Delta \lambda}{\lambda - r}, \quad t \in [r, y].$$

Then,

$$\int_r^y u(\lambda) \Phi(A_k f(\sigma(\lambda), \lambda)) \frac{\Delta \lambda}{\lambda - r} \leq \int_r^y v(\lambda) \Phi(f(\lambda)) \frac{\Delta \lambda}{\lambda - r}, \quad (7)$$

where

$$A_k f(t, \beta) = \frac{1}{K(t, \beta)} \int_r^t k(\beta, \theta) f(\theta) \Delta \theta, \quad K(t, \beta) := \int_r^t k(\beta, \theta) \Delta \theta.$$

Our aim in this study is to generalize (4) on time-scale nabla calculus of power $\eta \geq 1$ in the form

$$\int_r^y \chi^\eta(A_\varrho \omega(\zeta)) \frac{\varkappa(\zeta)}{\rho(\zeta) - r} \nabla \zeta \leq \left(\frac{B}{A} \right)^\eta \left(\int_r^y \chi(\omega(\vartheta)) \frac{\omega(\vartheta)}{\rho(\vartheta) - r} \nabla \vartheta \right)^\eta,$$

where A, B are positive constants. We will also establish the last inequality for several functions. Furthermore, we will prove the last inequality in multidimensions on time-scales nabla calculus.

The paper proceeds as follows. In Section 2, we state some properties concerning the time-scales nabla calculus needed in Section 3, where we prove the main results. Our main results when $\mathbb{T} \rightarrow \mathbb{R}$, we obtain (4) proved by Kaijser et al. [5] and when $\mathbb{T} \rightarrow \mathbb{N}$, we obtain a new discrete inequality.

2. Preliminaries and Basic Lemmas

For a time scale $\mathbb{T}$, we define the backward jump operator as $\rho(\gamma) = \sup\{s \in \mathbb{T} : s < \gamma\}$. Additionally, we define a mapping $\nu : \mathbb{T} \rightarrow \mathbb{R}^+$ by $\nu(\gamma) = \gamma - \rho(\gamma)$, such that if ω is nabla differentiable at γ , then $\nu(\gamma)\omega^\nabla(\gamma) = \omega(\gamma) - \omega^\rho(\gamma)$. For more details about $\mathbb{T}$ calculus, see ([6,7]).

The nabla derivative of $\varkappa\omega$ and $\varkappa/\omega$ (where $\omega(\gamma)\omega^\rho(\gamma) \neq 0$) are given by

$$\begin{aligned} (\varkappa\omega)^\nabla(\gamma) &= \varkappa^\nabla(\gamma)\omega(\gamma) + \varkappa^\rho(\gamma)\omega^\nabla(\gamma) \\ &= \varkappa(\gamma)\omega^\nabla(\gamma) + \varkappa^\nabla(\gamma)\omega^\rho(\gamma), \end{aligned}$$

and

$$\left(\frac{\varkappa}{\omega} \right)^\nabla(\gamma) = \frac{\varkappa^\nabla(\gamma)\omega(\gamma) - \varkappa(\gamma)\omega^\nabla(\gamma)}{\omega(\gamma)\omega^\rho(\gamma)}.$$

Definition 1 ([6]). A function $F : \mathbb{T} \rightarrow \mathbb{R}$ is a nabla antiderivative of $\omega : \mathbb{T} \rightarrow \mathbb{R}$ if $F^\nabla(t) = \omega(t)$ holds $\forall t \in \mathbb{T}$. Hence, we have

$$\int_r^t \omega(\gamma) \nabla \gamma = F(t) - F(r) \quad \forall t \in \mathbb{T}.$$

Theorem 1 ([6]). If $r, y \in \mathbb{T}$, $\alpha \in \mathbb{R}$ and ω, λ are ld-continuous functions, then

- (1) $\int_r^y [\omega(\gamma) + \lambda(\gamma)] \nabla \gamma = \int_r^y \omega(\gamma) \nabla \gamma + \int_r^y \lambda(\gamma) \nabla \gamma;$
- (2) $\int_r^y \alpha \omega(\gamma) \nabla \gamma = \alpha \int_r^y \omega(\gamma) \nabla \gamma;$
- (3) $\int_r^r \omega(\gamma) \nabla \gamma = 0.$

The integration by parts formula on time scales nabla calculus [6] is

$$\int_r^y \kappa(\gamma) \omega^\nabla(\gamma) \nabla \gamma = [\kappa(\gamma) \omega(\gamma)]_r^y - \int_r^y \kappa^\nabla(\gamma) \omega^p(\gamma) \nabla \gamma. \quad (8)$$

The Arithmetic Mean–Geometric Mean inequality is given by

$$[\lambda_1(\zeta) \lambda_2(\zeta) \dots \lambda_n(\zeta)]^{\frac{1}{n}} \leq \frac{\sum_{k=1}^n \lambda_k(\zeta)}{n}. \quad (9)$$

where $\lambda_1(\zeta), \dots, \lambda_n(\zeta)$, $n \geq 1$ are non-negative functions.

In 2008, Ferreira et al. [15] proved Minkowski's inequality on diamond alpha time scales. As a special case of this inequality (when $\alpha = 0$), we get Minkowski's inequality on time-scale nabla calculus as follows.

Lemma 1 ([15]). Let $r, y \in \mathbb{T}$ and f, g be non-negative functions. Then,

$$\left(\int_r^y (f(\gamma) + g(\gamma))^p \nabla \gamma \right)^{\frac{1}{p}} \leq \left(\int_r^y f^p(\gamma) \nabla \gamma \right)^{\frac{1}{p}} + \left(\int_r^y g^p(\gamma) \nabla \gamma \right)^{\frac{1}{p}}, \quad (10)$$

for $p \geq 1$.

Lemma 2 ([16]). Let κ, ω and ϖ be non-negative functions on Ω, Υ and $\Omega \times \Upsilon$, respectively. If $\alpha \geq 1$, then

$$\begin{aligned} & \left(\int_{\Omega} \kappa(\lambda) \left(\int_{\Upsilon} \omega(\lambda, \vartheta) \omega(\vartheta) \nabla \vartheta \right)^{\alpha} \nabla \lambda \right)^{\frac{1}{\alpha}} \\ & \leq \int_{\Upsilon} \omega(\vartheta) \left(\int_{\Omega} \omega^{\alpha}(\lambda, \vartheta) \kappa(\lambda) \nabla \lambda \right)^{\frac{1}{\alpha}} \nabla \vartheta. \end{aligned} \quad (11)$$

Theorem 2 ([16]). Let $\varepsilon_i, \varsigma_i \in \mathbb{T}$, $i = 1, 2, \dots, m$, $\gamma \geq 1$, $\kappa : \mathbb{T}^m \times \mathbb{T}^m \rightarrow \mathbb{R}$ and $w, h : \mathbb{T}^m \rightarrow \mathbb{R}$ be non-negative rd-continuous functions. Then,

$$\begin{aligned} & \left[\int_{\varepsilon_1}^{\varsigma_1} \dots \int_{\varepsilon_m}^{\varsigma_m} w(\mathbf{y}) \left(\int_{\varepsilon_1}^{\varsigma_1} \dots \int_{\varepsilon_m}^{\varsigma_m} h(\mathbf{z}) \kappa(\mathbf{y}, \mathbf{z}) \nabla \mathbf{z} \right)^{\gamma} \nabla \mathbf{y} \right]^{\frac{1}{\gamma}} \\ & \leq \int_{\varepsilon_1}^{\varsigma_1} \dots \int_{\varepsilon_m}^{\varsigma_m} h(\mathbf{z}) \left(\int_{\varepsilon_1}^{\varsigma_1} \dots \int_{\varepsilon_m}^{\varsigma_m} w(\mathbf{y}) \kappa^{\gamma}(\mathbf{y}, \mathbf{z}) \nabla \mathbf{y} \right)^{\frac{1}{\gamma}} \nabla \mathbf{z}, \end{aligned} \quad (12)$$

where $\nabla \mathbf{y} = \nabla y_1 \dots \nabla y_m$, $\kappa(\mathbf{y}, \mathbf{z}) = \kappa(y_1, \dots, y_m, z_1, \dots, z_m)$, $w(\mathbf{z}) = w(z_1, \dots, z_m)$ and $h(\mathbf{z}) = h(z_1, \dots, z_m)$.

In [17], Jensen's inequality is proved for the diamond- α time scale. In the case, $\alpha = 0$, this inequality can be written in nabla time-scale calculus as follows.

Lemma 3 ([17]). Let $r, y \in \mathbb{T}$, $h \in C_{ld}([r, y]_{\mathbb{T}}, \mathbb{R})$, $u : [r, y]_{\mathbb{T}} \rightarrow (c, d)$, $c, d \in \mathbb{R}$ be ld-continuous and Φ be continuous and convex. Then,

$$\Phi \left(\frac{1}{\int_r^y h(\vartheta) \nabla \vartheta} \int_r^y h(\gamma) u(\gamma) \nabla \gamma \right) \leq \frac{1}{\int_r^y h(\vartheta) \nabla \vartheta} \int_r^y h(\gamma) \Phi(u(\gamma)) \nabla \gamma. \quad (13)$$

If Φ is a concave function, then (13) will be reversed.

Theorem 3 ([17]). Let $\varepsilon_i, \varsigma_i \in \mathbb{T}, i = 1, 2, \dots, m, g : \mathbb{T}^m \rightarrow (c, d), c, d \in \mathbb{R}$ be ld-continuous and Φ be continuous and convex. Then,

$$\begin{aligned} & \Phi \left(\frac{1}{\int_{\varepsilon_1}^{\varsigma_1} \dots \int_{\varepsilon_m}^{\varsigma_m} \varrho(\mathbf{y}, \mathbf{z}) \nabla \mathbf{z}} \int_{\varepsilon_1}^{\varsigma_1} \dots \int_{\varepsilon_m}^{\varsigma_m} \varrho(\mathbf{y}, \mathbf{z}) g(\mathbf{z}) \nabla \mathbf{z} \right) \\ & \leq \frac{1}{\int_{\varepsilon_1}^{\varsigma_1} \dots \int_{\varepsilon_m}^{\varsigma_m} \varrho(\mathbf{y}, \mathbf{z}) \nabla \mathbf{z}} \int_{\varepsilon_1}^{\varsigma_1} \dots \int_{\varepsilon_m}^{\varsigma_m} \varrho(\mathbf{y}, \mathbf{z}) \Phi(g(\mathbf{z})) \nabla \mathbf{z}, \end{aligned} \quad (14)$$

where $\nabla \mathbf{z} = \nabla z_1 \dots \nabla z_m, \varrho(\mathbf{y}, \mathbf{z}) = \varrho(y_1, \dots, y_m, z_1, \dots, z_m)$ and $g(\mathbf{z}) = g(z_1, \dots, z_m)$.

3. Main Results

Throughout this section, we will assume that the functions (without mention) are non-negative ld-continuous functions and the integrals in the statements of the theorems are convergent. We define the general Hardy operator A_ϱ as follows

$$A_\varrho \omega(\lambda) = \frac{1}{\Lambda(\lambda)} \int_r^y \varrho(\lambda, \vartheta) \omega(\vartheta) \nabla \vartheta, \quad \Lambda(\lambda) = \int_r^y \varrho(\lambda, \vartheta) \nabla \vartheta,$$

where $\lambda > r$ and $\omega \in C_{ld}([r, y]_{\mathbb{T}}, \mathbb{R}^+)$ and $\varrho(\lambda, \vartheta) \in C_{ld}([r, y]_{\mathbb{T}} \times [r, y]_{\mathbb{T}}, \mathbb{R}^+)$.

Now, we state and prove our main results.

Theorem 4. Let $r, y \in \mathbb{T}, \eta \geq 1$ and $\varkappa, \omega$ be weighted functions, such that

$$\omega(\vartheta) = (\rho(\vartheta) - r) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}}. \quad (15)$$

Furthermore, assume that χ, ξ defined on $(c, d), -\infty < c < d < \infty$ and ξ is a convex function, such that

$$A\xi(\lambda) \leq \chi(\lambda) \leq B\xi(\lambda), \quad c < \lambda < d, \quad (16)$$

where A, B are positive constants; then

$$\int_r^y \chi^\eta(A_\varrho \omega(\lambda)) \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \leq \left(\frac{B}{A} \right)^\eta \left(\int_r^y \chi(\omega(\vartheta)) \frac{\omega(\vartheta)}{\rho(\vartheta) - r} \nabla \vartheta \right)^\eta, \quad (17)$$

holds for the non-negative function ω .

Proof. Using (16) and applying (13) (where ξ is convex), we have

$$\begin{aligned} & \int_r^y \chi^\eta(A_\varrho \omega(\lambda)) \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \\ & = \int_r^y \chi^\eta \left(\frac{1}{\Lambda(\lambda)} \int_r^y \varrho(\lambda, \vartheta) \omega(\vartheta) \nabla \vartheta \right) \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\ & \leq B^\eta \int_r^y \xi^\eta \left(\frac{1}{\Lambda(\lambda)} \int_r^y \varrho(\lambda, \vartheta) \omega(\vartheta) \nabla \vartheta \right) \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\ & \leq B^\eta \int_r^y \frac{1}{\Lambda^\eta(\lambda)} \left(\int_r^y \varrho(\lambda, \vartheta) \xi(\omega(\vartheta)) \nabla \vartheta \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda. \end{aligned} \quad (18)$$

Applying (11) on the term

$$\int_r^y \frac{1}{\Lambda^\eta(\lambda)} \left(\int_r^y \varrho(\lambda, \vartheta) \xi(\omega(\vartheta)) \nabla \vartheta \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda,$$

with $\eta \geq 1$, we see that

$$\begin{aligned} & \left(\int_r^y \frac{1}{\Lambda^\eta(\lambda)} \left(\int_r^y \varrho(\lambda, \vartheta) \xi(\omega(\vartheta)) \nabla \vartheta \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \\ & \leq \int_r^y \xi(\omega(\vartheta)) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \nabla \vartheta, \end{aligned}$$

then

$$\begin{aligned} & \int_r^y \frac{1}{\Lambda^\eta(\lambda)} \left(\int_r^y \varrho(\lambda, \vartheta) \xi(\omega(\vartheta)) \nabla \vartheta \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\ & \leq \left[\int_r^y \xi(\omega(\vartheta)) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \nabla \vartheta \right]^\eta \\ & = \left[\int_r^y \xi(\omega(\vartheta)) \frac{1}{\rho(\vartheta) - r} (\rho(\vartheta) - r) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \nabla \vartheta \right]^\eta. \quad (19) \end{aligned}$$

Substituting (19) into (18), we have from (15) that

$$\begin{aligned} & \int_r^y \chi^\eta(A_\varrho \omega(\lambda)) \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \\ & \leq B^\eta \left[\int_r^y \xi(\omega(\vartheta)) \frac{1}{\rho(\vartheta) - r} (\rho(\vartheta) - r) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \nabla \vartheta \right]^\eta \\ & = B^\eta \left[\int_r^y \xi(\omega(\vartheta)) \frac{1}{\rho(\vartheta) - r} \omega(\vartheta) \nabla \vartheta \right]^\eta, \end{aligned}$$

and then, we get from (16) that

$$\int_r^y \chi^\eta(A_\varrho \omega(\lambda)) \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \leq \left(\frac{B}{A} \right)^\eta \left[\int_r^y \chi(\omega(\vartheta)) \frac{1}{\rho(\vartheta) - r} \omega(\vartheta) \nabla \vartheta \right]^\eta,$$

which is (17). $\square$

Corollary 1. If $A = B$ and $\eta = 1$, then

$$\int_r^y \chi(A_\varrho \omega(\lambda)) \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \leq \left(\int_r^y \chi(\omega(\vartheta)) \frac{\omega(\vartheta)}{\rho(\vartheta) - r} \nabla \vartheta \right),$$

where

$$\omega(\vartheta) = (\rho(\vartheta) - r) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right) \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right).$$

Remark 1. If $\mathbb{T} = \mathbb{N}$, $r = 0$, then $\rho(n) = n - 1$ and (17) reduces to

$$\begin{aligned} & \sum_{n=1}^N \chi \left(\frac{1}{\sum_{m=1}^n \varrho(n, m)} \sum_{m=1}^n \varrho(n, m) \omega(m) \right) \frac{\varkappa(n)}{n - 1} \\ & \leq \left[\sum_{n=1}^N \chi(\omega(n)) \frac{\omega(n)}{n - 1} \right], \quad \text{for } N \in \mathbb{N}. \end{aligned}$$

Remark 2. If $\mathbb{T} = \mathbb{R}$, $r = 0$, then $\rho(\zeta) = \zeta$, and we have

$$\int_r^y \chi(A_\varrho \omega(\lambda)) \frac{\varkappa(\lambda)}{\lambda} d\lambda \leq \left(\int_r^y \chi(\omega(\vartheta)) \frac{\omega(\vartheta)}{\vartheta} d\vartheta \right),$$

where

$$\omega(\vartheta) = \vartheta \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right) \frac{\varkappa(\lambda)}{\lambda} d\lambda \right).$$

Remark 3. If $\varrho(\lambda, \vartheta) = \begin{cases} 0, & \lambda \in [r, \vartheta), \\ f(\lambda, \vartheta), & \lambda \in [\vartheta, y]. \end{cases}$, we get the inequality (4) proved by Kaijser et al. [5].

The following theorem is proved for several functions.

Theorem 5. Let $r, y \in \mathbb{T}$, $\eta \geq 1$ and $\varkappa, \omega$ be as in Theorem 4, such that

$$\omega(\vartheta) = (\rho(\vartheta) - r) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}}. \quad (20)$$

Furthermore, assume that $\omega_k, k = 1, 2, \dots, n$ and χ, ξ are as in Theorem 4, such that

$$A\xi(\lambda) \leq \chi(\lambda) \leq B\xi(\lambda), \quad (21)$$

where A, B are positive constants, then

$$\begin{aligned} & \int_r^y [\Pi_{k=1}^n \chi(A_\varrho \omega_k(\lambda))]^{\frac{\eta}{n}} \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \\ & \leq \left(\frac{B}{nA} \right)^\eta \left(\sum_{k=1}^n \left[\int_r^y \chi(\omega_k(\vartheta)) \frac{1}{\rho(\vartheta) - r} \omega(\vartheta) \nabla \vartheta \right]^\eta \right)^{\frac{1}{\eta}}, \end{aligned} \quad (22)$$

holds for $n \geq 1$.

Proof. Applying (Arithmetic Mean–Geometric Mean) inequality (9), we see that

$$\begin{aligned} & [\Pi_{k=1}^n \chi(A_\varrho \omega_k(\lambda))]^{\frac{1}{n}} \\ & = [\chi(A_\varrho \omega_1(\lambda)) \chi(A_\varrho \omega_2(\lambda)) \dots \chi(A_\varrho \omega_n(\lambda))]^{\frac{1}{n}} \\ & \leq \frac{\sum_{k=1}^n \chi(A_\varrho \omega_k(\lambda))}{n}. \end{aligned}$$

Then, we obtain

$$\begin{aligned} & \int_r^y [\Pi_{k=1}^n \chi(A_\varrho \omega_k(\lambda))]^{\frac{\eta}{n}} \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \\ & \leq \int_r^y \left(\frac{\sum_{k=1}^n \chi(A_\varrho \omega_k(\lambda))}{n} \right)^\eta \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \\ & = \left(\frac{1}{n} \right)^\eta \int_r^y \left(\sum_{k=1}^n \chi(A_\varrho \omega_k(\lambda)) \right)^\eta \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r}. \end{aligned} \quad (23)$$

By applying (10) (where $\eta \geq 1$), we observe that

$$\begin{aligned} & \left(\int_r^y \left(\sum_{k=1}^n \chi(A_{\varrho} \omega_k(\lambda)) \right)^{\eta} \frac{\nabla \lambda}{\rho(\lambda) - r} \right)^{\frac{1}{\eta}} \\ &= \left(\int_r^y \frac{\varkappa(\lambda)}{\rho(\lambda) - r} [\chi(A_{\varrho} \omega_1(\lambda)) + \dots + \chi(A_{\varrho} \omega_n(\lambda))]^{\eta} \nabla \lambda \right)^{\frac{1}{\eta}} \\ &\leq \left(\int_r^y \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \chi^{\eta}(A_{\varrho} \omega_1(\lambda)) \nabla \lambda \right)^{\frac{1}{\eta}} + \dots + \left(\int_r^y \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \chi^{\eta}(A_{\varrho} \omega_n(\lambda)) \nabla \lambda \right)^{\frac{1}{\eta}} \\ &= \sum_{k=1}^n \left(\int_r^y \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \chi^{\eta}(A_{\varrho} \omega_k(\lambda)) \nabla \lambda \right)^{\frac{1}{\eta}}, \end{aligned}$$

and then

$$\begin{aligned} & \int_r^y \left(\sum_{k=1}^n \chi(A_{\varrho} \omega_k(\lambda)) \right)^{\eta} \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\ &\leq \left[\sum_{k=1}^n \left(\int_r^y \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \chi^{\eta}(A_{\varrho} \omega_k(\lambda)) \nabla \lambda \right)^{\frac{1}{\eta}} \right]^{\eta}. \end{aligned} \quad (24)$$

Substituting (24) into (23), we have that

$$\begin{aligned} & \int_r^y [\Pi_{k=1}^n \chi(A_{\varrho} \omega_k(\lambda))]^{\frac{\eta}{n}} \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\ &\leq \left(\frac{1}{n} \right)^{\eta} \left[\sum_{k=1}^n \left(\int_r^y \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \chi^{\eta}(A_{\varrho} \omega_k(\lambda)) \nabla \lambda \right)^{\frac{1}{\eta}} \right]^{\eta}. \end{aligned} \quad (25)$$

Using (21) and applying (13), we get

$$\begin{aligned} & \int_r^y \chi^{\eta}(A_{\varrho} \omega_k(\lambda)) \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\ &= \int_r^y \chi^{\eta} \left(\frac{1}{\Lambda(\lambda)} \int_r^y \varrho(\lambda, \vartheta) \omega_k(\vartheta) \nabla \vartheta \right) \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\ &\leq B^{\eta} \int_r^y \xi^{\eta} \left(\frac{1}{\Lambda(\lambda)} \int_r^y \varrho(\lambda, \vartheta) \omega_k(\vartheta) \nabla \vartheta \right) \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\ &\leq B^{\eta} \int_r^y \frac{1}{\Lambda^{\eta}(\lambda)} \left(\int_r^y \varrho(\lambda, \vartheta) \xi(\omega_k(\vartheta)) \nabla \vartheta \right)^{\eta} \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda. \end{aligned} \quad (26)$$

Applying (11) on the term

$$\int_r^y \frac{1}{\Lambda^{\eta}(\lambda)} \left(\int_r^y \varrho(\lambda, \vartheta) \xi(\omega_k(\vartheta)) \nabla \vartheta \right)^{\eta} \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda,$$

with $\eta \geq 1$, we see that

$$\begin{aligned} & \left(\int_r^y \frac{1}{\Lambda^{\eta}(\lambda)} \left(\int_r^y \varrho(\lambda, \vartheta) \xi(\omega_k(\vartheta)) \nabla \vartheta \right)^{\eta} \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \\ &\leq \int_r^y \xi(\omega_k(\vartheta)) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^{\eta} \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \nabla \vartheta, \end{aligned}$$

then

$$\begin{aligned}
 & \int_r^y \frac{1}{\Lambda^\eta(\lambda)} \left(\int_r^y \varrho(\lambda, \vartheta) \zeta(\omega_k(\vartheta)) \nabla \vartheta \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \\
 & \leq \left[\int_r^y \zeta(\omega_k(\vartheta)) \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \nabla \vartheta \right]^\eta \\
 & = \left[\int_r^y \zeta(\omega_k(\vartheta)) \frac{1}{\rho(\vartheta) - r} (\rho(\vartheta) - r) \right. \\
 & \quad \left. \times \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \nabla \vartheta \right]^\eta. \tag{27}
 \end{aligned}$$

Substituting (27) into (26) and using (20), we get

$$\begin{aligned}
 & \int_r^y \chi^\eta(A_\varrho \omega_k(\lambda)) \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \\
 & \leq B^\eta \left[\int_r^y \zeta(\omega_k(\vartheta)) \frac{1}{\rho(\vartheta) - r} (\rho(\vartheta) - r) \right. \\
 & \quad \left. \times \left(\int_r^y \left(\frac{\varrho(\lambda, \vartheta)}{\Lambda(\lambda)} \right)^\eta \frac{\varkappa(\lambda)}{\rho(\lambda) - r} \nabla \lambda \right)^{\frac{1}{\eta}} \nabla \vartheta \right]^\eta \\
 & = B^\eta \left[\int_r^y \zeta(\omega_k(\vartheta)) \frac{1}{\rho(\vartheta) - r} \omega(\vartheta) \nabla \vartheta \right]^\eta.
 \end{aligned}$$

From (21), we obtain

$$\begin{aligned}
 & \int_r^y \chi^\eta(A_\varrho \omega_k(\lambda)) \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \\
 & \leq \left(\frac{B}{A} \right)^\eta \left[\int_r^y \chi(\omega_k(\vartheta)) \frac{1}{\rho(\vartheta) - r} \omega(\vartheta) \nabla \vartheta \right]^\eta.
 \end{aligned}$$

Substituting the last inequality into (25), we get

$$\begin{aligned}
 & \int_r^y [\Pi_{k=1}^n \chi(A_\varrho \omega_k(\lambda))]^\eta \varkappa(\lambda) \frac{\nabla \lambda}{\rho(\lambda) - r} \\
 & \leq \left(\frac{B}{nA} \right)^\eta \left(\sum_{k=1}^n \left[\int_r^y \chi(\omega_k(\vartheta)) \frac{1}{\rho(\vartheta) - r} \omega(\vartheta) \nabla \vartheta \right]^\eta \right)^\eta,
 \end{aligned}$$

which is (22). $\square$

Remark 4. If $n = 1$, we get Theorem 4.

Multidimensional Inequalities on Time Scales

In the following section, we define

$$A_\varrho \omega(\mathbf{y}) = \frac{1}{\Lambda(\mathbf{y})} \int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \omega(\mathbf{z}) \nabla \mathbf{z}, \quad \Lambda(\mathbf{y}) = \int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \nabla \mathbf{z},$$

where $\varrho(\mathbf{y}, \mathbf{z}) = \varrho(y_1, \dots, y_m, z_1, \dots, z_m)$, $\nabla \mathbf{y} = \nabla y_1 \dots \nabla y_m$ and $\omega(\mathbf{z}) = \omega(z_1, \dots, z_m)$.

Theorem 6. Let $\varepsilon_i, \epsilon_i \in \mathbb{T}, i = 1, 2, \dots, m, \eta \geq 1$ and $\varkappa, \omega$ be as in Theorem 4, such that

$$\omega(\mathbf{z}) = (\rho(z_1) - \varepsilon_1) \dots (\rho(z_m) - \varepsilon_m) \times \left(\int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \left(\frac{\varrho(\mathbf{y}, \mathbf{z})}{\Lambda(\mathbf{y})} \right)^\eta \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y} \right)^{\frac{1}{\eta}}. \quad (28)$$

In addition, assume that χ, ξ are as in Theorem 4, such that

$$A\xi(\mathbf{y}) \leq \chi(\mathbf{y}) \leq B\xi(\mathbf{y}), \quad (29)$$

where A, B are positive constants, then

$$\begin{aligned} & \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \chi^\eta(A\varrho(\mathbf{y})) \varkappa(\mathbf{y}) \frac{\nabla \mathbf{y}}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \\ & \leq \left(\frac{B}{A} \right)^\eta \left[\int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \chi(\omega(\mathbf{z})) \frac{1}{(\rho(z_1) - \varepsilon_1) \dots (\rho(z_m) - \varepsilon_m)} \omega(\mathbf{z}) \nabla \mathbf{z} \right]^\eta, \end{aligned} \quad (30)$$

holds for the non-negative function ω .

Proof. Using (29) and applying (14), we get

$$\begin{aligned} & \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \chi^\eta(A\varrho(\mathbf{y})) \varkappa(\mathbf{y}) \frac{\nabla \mathbf{y}}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \\ & = \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \chi^\eta \left(\frac{1}{\Lambda(\mathbf{y})} \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \omega(\mathbf{z}) \nabla \mathbf{z} \right) \\ & \times \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y} \\ & \leq B^\eta \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \xi^\eta \left(\frac{1}{\Lambda(\mathbf{y})} \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \omega(\mathbf{z}) \nabla \mathbf{z} \right) \\ & \times \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y} \\ & \leq B^\eta \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \frac{1}{\Lambda^\eta(\mathbf{y})} \left(\int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \xi(\omega(\mathbf{z})) \nabla \mathbf{z} \right)^\eta \\ & \times \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y}. \end{aligned} \quad (31)$$

Applying (12) on the term

$$\begin{aligned} & \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \frac{1}{\Lambda^\eta(\mathbf{y})} \left(\int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \xi(\omega(\mathbf{z})) \nabla \mathbf{z} \right)^\eta \\ & \times \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y}, \end{aligned}$$

with $\eta \geq 1$, we see that

$$\begin{aligned} & \left[\int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \frac{1}{\Lambda^\eta(\mathbf{y})} \left(\int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \xi(\omega(\mathbf{z})) \nabla \mathbf{z} \right)^\eta \right. \\ & \times \left. \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y} \right]^{\frac{1}{\eta}} \\ & \leq \int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \xi(\omega(\mathbf{z})) \left(\int_{\varepsilon_1}^{\epsilon_1} \dots \int_{\varepsilon_m}^{\epsilon_m} \left(\frac{\varrho(\mathbf{y}, \mathbf{z})}{\Lambda(\mathbf{y})} \right)^\eta \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y} \right)^{\frac{1}{\eta}} \nabla \mathbf{z}, \end{aligned}$$

then

$$\begin{aligned} & \int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \frac{1}{\Lambda^\eta(\mathbf{y})} \left(\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \xi(\omega(\mathbf{z})) \nabla \mathbf{z} \right)^\eta \\ & \times \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y} \\ & \leq \left[\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \xi(\omega(\mathbf{z})) \right. \\ & \times \left. \left(\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \left(\frac{\varrho(\mathbf{y}, \mathbf{z})}{\Lambda(\mathbf{y})} \right)^\eta \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y} \right)^{\frac{1}{\eta}} \nabla \mathbf{z} \right]^\eta. \end{aligned} \quad (32)$$

Substituting (32) into (31), we have from (28) that

$$\begin{aligned} & \int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \chi^\eta(A_\varrho \omega(\mathbf{y})) \varkappa(\mathbf{y}) \frac{\nabla \mathbf{y}}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \\ & \leq B^\eta \left[\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \xi(\omega(\mathbf{z})) \right. \\ & \times \left. \left(\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \left(\frac{\varrho(\mathbf{y}, \mathbf{z})}{\Lambda(\mathbf{y})} \right)^\eta \frac{\varkappa(\mathbf{y})}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \nabla \mathbf{y} \right)^{\frac{1}{\eta}} \nabla \mathbf{z} \right]^\eta \\ & = B^\eta \left[\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \xi(\omega(\mathbf{z})) \frac{1}{(\rho(z_1) - \varepsilon_1) \dots (\rho(z_m) - \varepsilon_m)} \omega(\mathbf{z}) \nabla \mathbf{z} \right]^\eta, \end{aligned}$$

and then we have from (29) that

$$\begin{aligned} & \int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \chi^\eta(A_\varrho \omega(\mathbf{y})) \varkappa(\mathbf{y}) \frac{\nabla \mathbf{y}}{(\rho(y_1) - \varepsilon_1) \dots (\rho(y_m) - \varepsilon_m)} \\ & \leq \left(\frac{B}{A} \right)^\eta \left[\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \chi(\omega(\mathbf{z})) \frac{1}{(\rho(z_1) - \varepsilon_1) \dots (\rho(z_m) - \varepsilon_m)} \omega(\mathbf{z}) \nabla \mathbf{z} \right]^\eta, \end{aligned}$$

which is (30). $\square$

Remark 5. If $\mathbb{T} = \mathbb{R}$, $\rho(\vartheta) = \vartheta$ and $A = B = 1$, then

$$\begin{aligned} & \int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \chi^\eta(A_\varrho \omega(\mathbf{y})) \frac{\varkappa(\mathbf{y})}{(y_1 - \varepsilon_1) \dots (y_m - \varepsilon_m)} d\mathbf{y} \\ & \leq \left(\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \chi(\omega(\mathbf{z})) \frac{\omega(\mathbf{z})}{(z_1 - \varepsilon_1) \dots (z_m - \varepsilon_m)} d\mathbf{z} \right)^\eta, \end{aligned}$$

where $\omega(\mathbf{z}) = \omega(z_1, z_2, \dots, z_m)$, $\varrho(\mathbf{y}, \mathbf{z}) = \varrho(y_1, \dots, y_m, z_1, \dots, z_m)$ and

$$A_\varrho \omega(\mathbf{y}) = \frac{1}{\Lambda(\mathbf{y})} \int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \varrho(\mathbf{y}, \mathbf{z}) \omega(\mathbf{z}) d\mathbf{z}, \quad \Lambda(\mathbf{y}) = \int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \varrho(\mathbf{y}, \mathbf{z}) d\mathbf{z},$$

with

$$\begin{aligned} & \omega(\mathbf{z}) = (z_1 - \varepsilon_1) \dots (z_m - \varepsilon_m) \\ & \times \left(\int_{\varepsilon_1}^{\varepsilon_1} \dots \int_{\varepsilon_m}^{\varepsilon_m} \left(\frac{\varrho(\mathbf{y}, \mathbf{z})}{\Lambda(\mathbf{y})} \right)^\eta \frac{\varkappa(\mathbf{y})}{(y_1 - \varepsilon_1) \dots (y_m - \varepsilon_m)} d\mathbf{y} \right)^{\frac{1}{\eta}}. \end{aligned}$$

Remark 6. If $\mathbb{T} = \mathbb{N}$, $\rho(\vartheta) = \vartheta - 1$ and $A = B = 1$, then

$$\sum_{\varepsilon_1}^{\varepsilon_1} \dots \sum_{\varepsilon_m}^{\varepsilon_m} \chi^\eta(A_q \omega(\mathbf{y})) \frac{\varkappa(\mathbf{y})}{(y_1 - \varepsilon_1 - 1) \dots (y_m - \varepsilon_m - 1)} \\ \leq \left[\sum_{\varepsilon_1}^{\varepsilon_1} \dots \sum_{\varepsilon_m}^{\varepsilon_m} \chi(\omega(\mathbf{z})) \frac{1}{(z_1 - \varepsilon_1 - 1) \dots (z_m - \varepsilon_m - 1)} \omega(\mathbf{z}) \right]^\eta,$$

where $\omega(\mathbf{z}) = \omega(z_1, z_2, \dots, z_m)$, $q(\mathbf{y}, \mathbf{z}) = q(y_1, \dots, y_m, z_1, \dots, z_m)$ and

$$A_q \omega(\mathbf{y}) = \frac{1}{\Lambda(\mathbf{y})} \sum_{\varepsilon_1}^{\varepsilon_1} \dots \sum_{\varepsilon_m}^{\varepsilon_m} q(\mathbf{y}, \mathbf{z}) \omega(\mathbf{z}), \quad \Lambda(\mathbf{y}) = \sum_{\varepsilon_1}^{\varepsilon_1} \dots \sum_{\varepsilon_m}^{\varepsilon_m} q(\mathbf{y}, \mathbf{z}),$$

with

$$\omega(\mathbf{z}) = (z_1 - \varepsilon_1 - 1) \dots (z_m - \varepsilon_m - 1) \\ \times \left(\sum_{\varepsilon_1}^{\varepsilon_1} \dots \sum_{\varepsilon_m}^{\varepsilon_m} \left(\frac{q(\mathbf{y}, \mathbf{z})}{\Lambda(\mathbf{y})} \right)^\eta \frac{\varkappa(\mathbf{y})}{(y_1 - \varepsilon_1 - 1) \dots (y_m - \varepsilon_m - 1)} \right)^{\frac{1}{\eta}}.$$

4. Conclusions

In this research, we generalize some new inequalities on time-scale nabla calculus. We will also establish some dynamic inequalities for several functions. Furthermore, we will establish these inequalities in multiple dimensions on time-scales nabla calculus. All of these inequalities can be proved by applying Minkowski's inequality, Jensen's inequality and Arithmetic Mean–Geometric Mean inequality. In the future, we hope to study these dynamic inequalities via conformable nabla fractional calculus on time scales.

Author Contributions: Software and Writing—original draft, A.I.S., G.A. and C.C.; Writing—review and editing M.Z. and H.M.R. All authors have read and agreed to the published version of the manuscript.

Funding: Princess Nourah bint Abdulrahman University, Riyadh, Saudi Arabia.

Data Availability Statement: Not applicable.

Acknowledgments: Princess Nourah bint Abdulrahman University Researchers Supporting Project number (PNURSP2022R45), Princess Nourah bint Abdulrahman University, Riyadh, Saudi Arabia.

Conflicts of Interest: The authors declare no conflict of interest.

References

- Hardy, G.H. Notes on a theorem of Hilbert. *Math. Z.* **1920**, *6*, 314–317. [\[CrossRef\]](#)
- Hardy, G.H. Notes on some points in the integral calculus, LX. An inequality between integrals. *Mess. Math.* **1925**, *54*, 150–156.
- Kaijser, S.; Persson, L.E.; öberg, A. On Carleman and Knopp's inequalities. *J. Approx. Theory* **2002**, *117*, 140–151. [\[CrossRef\]](#)
- Cižmešija, A.; Pečarić, J.; Persson, L.E. On strengthened Hardy and Pólya-Knopp's inequalities. *J. Approx. Theory* **2003**, *125*, 74–84. [\[CrossRef\]](#)
- Kaijser, S.; Nikolova, L.; Persson, L.E.; Wedestig, A. Hardy type inequalities via convexity. *Math. Inequal. Appl.* **2005**, *8*, 403–417. [\[CrossRef\]](#)
- Bohner, M.; Peterson, A. *Dynamic Equations on Time Scales: An Introduction with Applications*; Birkhäuser: Boston, MA, USA, 2001.
- Bohner, M.; Peterson, A. *Advances in Dynamic Equations on Time Scales*; Birkhäuser: Boston, MA, USA, 2003.
- Rezk, H.M.; Saied, A.I.; AlNemer, Ġ.; Zakarya, M. On Hardy–Knopp type inequalities with kernels via time scale calculus. *J. Math.* **2022**, *2022*, 1–13. [\[CrossRef\]](#)
- Saker, S.H.; Rezk, H.M. Islam Abohela and Dumitru Baleanu, Refinement Multidimensional Dynamic Inequalities with General Kernels and Measures. *J. Inequalities Appl.* **2019**, *306*, 1–16.
- Zakarya, M.; Nemer, G.A.L.; Saied, A.I.; Butush, R.; Rezk, O.B.H.M. Generalized Inequalities of Hilbert-Type on Time Scales Nabla Calculus. *Symmetry* **2022**, *14*, 1512. [\[CrossRef\]](#)
- Zakarya, M.; Saied, A.I.; Nemer, G.A.L.; Rezk, H.M. A study on some new reverse Hilbert-type inequalities and its generalizations on time scales. *J. Math.* **2022**, *2022*, 1–12. [\[CrossRef\]](#)

12. Rashid, S.; Noor, M.A.; Noor, K.I.; Safdar, F.; Chu, Y.M. Hermite-Hadamard type inequalities for the class of convex functions on time scale. *Mathematics* **2019**, *7*, 956. [[CrossRef](#)]
13. Özkan, U.M.; Yildirim, H. Hardy-Knopp type inequalities on time scales. *Dyn. Syst. Appl.* **2008**, *17*, 477–486.
14. Özkan, U.M.; Yildirim, H. Time scale Hardy-Knopp type integral inequalities. *Commun. Math.* **2009**, *6*, 36–41.
15. Ferreira, R.A.; Ammi, M.R.S.; Torres, D.F. Diamond-alpha integral inequalities on time scales. *arXiv* **2008**, arXiv:0805.0242.
16. Bibi, R.; Bohner, M.; Pečarić, J.; Varošaneć, S. Minkowski and Beckenbach-Dresher inequalities and functionals on time scales. *J. Math. Inequal.* **2013**, *7*, 299–312. [[CrossRef](#)]
17. Ammi, M.R.S.; Ferreira, R.A.; Torres, D. Diamond- α Jensen's inequality on time scales. *J. Inequal. Appl.* **2008**, *2008*, 1–13.